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o We stact by proving the estimate from below in (€3):

©5) [ TXX]= ((A-A)uu) + ((BA'R+C)AL)
3 (/H'E) ((A"Ao).gotﬂa) 8 (A"%)((A"Ao)&!“c._ﬁ)'f

o Kot +((BA'BTC)A,2)
2ab seated h? Combikeng (53] 0<A~Ao oA
VabeR ¥£20| aud () g/ves

‘(66) ((A"Ao)_?m!")--‘d(rd«yg;yu)=o((BA“BT$,b).
< (1) (A-he) wor) + (14 (4+8) ) (RARD,A) + (C4))
< (1+9)((A A,)g,.u)4(4+ (4,,4)0:) ((BA" mc)A 2).

(u.)
[P (% ) 40) < [T(ﬁ“),(i“)]

((A Ao)Ao(A ° ) ((A A )A. (A-Ao) 4y ut )-l»((l’d,)y,,s)

< (1) [T(3).(¢)]+ (4+(4+é)o«) [T (&), (2]
|_[_l
Leg) = /1+('4-i )qfé=> gf-ag-cr=p

145 + v/% '),[mtx]




